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Draw a diagram for each question Qabeling all important numeric factors (ex velocity, forces, mass... ect.)
Write each numeric answer in ihe box to the risht ofthe ouestion. include units
l.A b,lock has a mass of 30. kg
what is the weighr of rhe ulo"r.r I 
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3. A 15,000. kg car going +40. m/s along
braking force of2000 Newtons, what
is the rate of acceleration of the car?
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2. Given a200. Newton block on
a 30. degree slope:
a) What is the normal force?
b) What is the force down the
ramp?
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4. A 200. Newton block is moving at
10m/s. Ifthe surfaces in contact have
a coelficient offriction of0.25, what
is the frictional force actins on the block?
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5. A 16.0 kg block, with a 4.0 kg rocket engine attached to it, has a ftictional
force of 10. Newtons to the right and while a model rocket engine pushes the
block to the left with a force of 40. Newtons, what is the acceleration of the
block?
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Write each numeric answer in the box to the risht of the question, include units
6..What net force is needed to
accelerate a 40O0 kg car at a
rate of 2.5 rnls'
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8, If a car is traveling at +50 m/s then
applies the brakes giving the car an
acceleration of -5 .0 m/s'. how far will
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the car travel down the road before it stops?
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7. A car has a frictional force of
2000. Newtons to the right while
its engine pushes it to the left

Mass =lrro>

with a force of 10,000. Newtons, if the cars
acceleration is 0.50 m/s', what is the cm's mass?
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9. A car at rest aocelerates at 5,0 m/s'
how fast will a car be traveline after vn"a= 75Vs
15.0 seconds?
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